PROBLEMAS DE TRIGONOMETRIA

Problema 157:

Demostrar que se verifica la siguiente igualdad:

a—>b
2

(cosa + cosb)? + (sena + sen b)? = 4cos?

Solucion Problema 157:

(cosa + cosbh)? + (sena + senb)? = (cos?a + cos?b + 2cosa - cosb) + (sen’a + sen?b + 2sena - sen b) =
= (sen®a + cos?a) + (sen?b + cos?b) + (2sena-senb) + (2cosa-cosh) =1+ 1+ 2(sena-senb + cosa - cosb)
2+ 2(sena-senb + cosa-cosb)

Sabemos que:

N |-

senx-seny = =[cos(x —y) — cos(x + y)]

N |-

cosx - cosy = —[cos(x —y) + cos(x + y)]

Luego,
1 1
2+ 2(sena-senb+cosa-cosbh) = 2+2-§[cos(a—b)—cos(a+b)] +2-§[cos(a—b)+cos(a+b)] =

=2+ cos(a—b) —cos(a+ b) + cos(a—b) +cos(a+b) =2+ 2cos(a—b) = 2[1 + cos(a — b)]
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Sabemos que:
1+ cos 2x = 2cos?x
Luego:

a—>b a—>b
2[1+ cos(a — b)] = 2 - 2cos?
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